EARAZROREIERT — 2 N—XBISY —F 20174128138 (k) 20@EEHE2H

m C13# ¥5%—M (xwlw | mEmml - v 5 o 8
[A&4£] 1 7% :200,000” ~ 23#%:50,000” ~ 337%&:20,000H” . 43%&:12,000” 53 :8,000 8
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. ] -30. _0_0_ . — Bris—A (BEE)
1 9 554 % 3 e 1(3_0)3 2-2-2-1 | 39.5 1 (5_137) e
g/ w7 BIRHTIT7 J—HrTy—LA
oo DOEEEA— :30. —4-3- . — BEOXRK (BHE)
AIE AL E 4 3 L 1(320)7 4-4-3-3 | 39.1 3 (4_638) R
R:T—ITH—Z B:Ta2E— =¥ T —L
. R FILE— : —1-1- — ROFEE (BHE)
3lglyg| FrLanr—2 it 3 A 1.(331).3 1-1-1-2 | 40.5 2 (434) ik
o400 B:TUELT 1 T35 Niis
=z . s 3 | +LEBAE 1:31.7 3-3-4-4 [39.5| — 4 447 | BREEA (BEHE)
afplg| 71~ A7AY 54.0 @ @i | @) Fr—xbETa
a1 XY 0 ML BHATATTH RS
s 4 | DOEEFIGE 1:33.8 6-5-5-5 | 41.3| — 10 | 437 |FEBS (BHE)
5 3|71 bhEAL 54.0 (&4 4) 3) | B A=2FT
L:FLNnvTy Tt B:7URTF1E—L =ltie]
N S A KB = :34. =7=1 . — SBREX (BHE)
61111 |ZI>TLRE1> 4 g B0 (11 314/21) e 410 8 (4+137) $8E g
R:AFA4d—I K B:E/TF> EvJiLy RT77—L4L
. s 3 | MIEEEZ 1:34.2 8-8-9-9 |40.9| — 7 426 | SiEBZ (BEHE)
7079 | PTIETL 54.0 e o | (@) PN
BV e D S V% I = S B B AFO%5
S 4 4 | KEHE 1:34.3 10-10-11-11| 40.4 | — 10 492 | BEHIEA (542)
sl 4| YTy FXZ—Fh 54.0 (3/4) 8 | @ =257
Ligp—3UTL B:AUHI SRS
N o3 | WIEHE 1:34.4 11-11-10-10{ 40.5 | — 5 472 | EBHREA (BEHE)
of 7| /ST 8.0 (7€) o) | BB 7r-ZkEvas
R:T—UTH—R BTIALRTLAZR HET7— L
j S s i o4 | RREE 1:34.4 5-6-6-6 | 41.7| — 6 | 480 |HEMARIE (BHE)
1010 JI—xE17 54.0 (7€) © #) 77—XFEY 3>
LY LTAN=—b B:TN-—FKFZX liEszie]
o N BHEA : -9-8- - HLUEE (B&HE)
11006 |/ SAT7>T71—F« RS 1'(314>'6 ST 4 ° 3_736) 1|37
LB ALNT Ry TR BO-—Y—XYXE— N
® I —F—@EBIERL
13—7+— 11,2,8,5,10,3,1,9,6,4,7
2=1—F— 11,2,8,5,3,10,1,9,6,4,7
Gal=5r= 11,2,5,8,3,10,1,6,9,7,4
43—F— 2,11,5,8,3,10,6,1,9,7,4
[ N3
BB 2 1604 714K 2-5 140H % E 2-5 520M 3EHE 2-5-11 150M
8 B 2 1004 2-11 100M B & 2= 580M K31 2-5-11 1,040M
5 150/ 5-11 150M B H 2-5 760M
11 1004

ABICOVWTRDTEEERROODE. TR LIV,



